

$f(x) > 0$

$\int_{-\infty}^{\infty} f(x) dx = 1$ ohne Beweis

$E(X) = \int_{-\infty}^{\infty} x \cdot \frac{1}{\sqrt{2\pi}} e^{-\frac{1}{2}x^2} dx$

ungerade Funktion

Formaler: $\int_{-\infty}^{\infty} \dots = \int_{-\infty}^0 \dots + \int_0^{\infty} \dots$

$= \int_0^{\infty} (-1) \frac{1}{\sqrt{2\pi}} e^{-\frac{1}{2}y^2} dy + \int_0^{\infty} \frac{1}{\sqrt{2\pi}} e^{-\frac{1}{2}y^2} dy = 0$

$V_{\text{var}}(X) = E(X^2) - (E(X))^2 = E(X^2) = \int_{-\infty}^{\infty} x^2 \cdot \frac{1}{\sqrt{2\pi}} e^{-\frac{1}{2}x^2} dx = \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} x^2 e^{-\frac{1}{2}x^2} dx$

$\frac{d}{dx} e^{-\frac{1}{2}x^2} = -x e^{-\frac{1}{2}x^2} = -x e^{-\frac{1}{2}x^2}$

$v = -e^{-\frac{1}{2}x^2} \quad v' = x e^{-\frac{1}{2}x^2}$

$u = x \quad u' = 1$

$= \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} x \cdot (-x e^{-\frac{1}{2}x^2})' dx = \frac{1}{\sqrt{2\pi}} \left(\int_{-\infty}^{\infty} x \cdot (-x e^{-\frac{1}{2}x^2}) dx + \int_{-\infty}^{\infty} 1 \cdot e^{-\frac{1}{2}x^2} dx \right)$

$= \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} e^{-\frac{1}{2}x^2} dx = 1$

$\int_{-\infty}^{\infty} \frac{1}{\sqrt{2\pi}} \exp\left(-\frac{1}{2}\left(\frac{x-\mu}{\sigma}\right)^2\right) dx = \int_{-\infty}^{\infty} \frac{1}{\sqrt{2\pi}} \exp(-\frac{1}{2}y^2) dy = 1$

$N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$

$f(x) \sim N(\mu, \sigma^2)$